PROPOSAL AND BID FORM

RFP #15-036 CITY MONUMENT SIGNS LANDSCAPING ENHANCEMENT PROJECT

<u>Location</u>			Lump Sum Bid Price
<u>Site 1</u> - SH 3 (approx. 700	southbound (in front of Walter Hall Park) – to be lar sf)	ndscaped, lighte	d and irrigated
Land	Iscaping		12172,38
Irriga	ation		1950-
Light	ting		33/4
Mair	ntenance		1200
		TOTAL	18,636 38
<u>Site 2</u> - FM 5 (approx. 200	18 eastbound as it enters League City's west side – I sf)	andscaped and	lighted
Land	scaping		7,13942
Light	ing		2910
Main	itenance		900
		TOTAL	10,94942
Site 3 - Inters (approx. 1,50	section of SH 3 and Walker (municipal complex sign) 10 sf)	– landscaped, li	ghted and irrigated
Land	scaping		34,13950
Irriga	ation		5,600
Light	ing		4,38250
Main	tenance		2300
		TOTAL	46,422
	GRAND TOTAL (ALL 3 LOCATION	s) <u> </u>	7 <u>6,007 80 </u>
Name of Company: _	LYNN'S LANDSCAPIN tive: GREG GRIPON	G INC	•
Company Representa	tive: GReg GRIPON	Title: PRes	SIPENT
Signature:	(Please Print) E-mail Address:	CRTRAVIO	Office FAST NOT
	Page 12 of 24		- CISING 91 118 Cf
		÷	
•	·		

Totals

2060 Pecan Orchard Rd League City, Tx. 77573 (281)332-4651 (281)332-7873 Fax

E-Mail:

greg@lynnslandscaping.com
Internet Address:

City of League City

1535 Dickinson Ave.

League City, Texas 77573

www.lynnslandscaping.com

8/10/2015

Date:

Installed Price	
Anotanett I nee	
	\$0.00
1 Hwy 3 Walter Hall Park \$17,436.38	\$17,436.38
1 Maintenance \$1,200.00	\$1,200.00
1 518 Entance Sign \$10,049.42	\$10,049.42
1 Maintenance \$900.00	\$900.00
1 Hwy 3 Leage City Library \$44,122.00	\$44,122.00
1 Maintenance \$2,300.00	\$2,300.00
	\$0.00
	\$0.00
	\$0.00
	\$0.00
	\$0.00
	\$0.00
	\$0.00
	\$0.00 \$0.00
	\$0.00
	\$0.00
	\$0.00
	\$0.00
	\$0.00
	\$0.00
	\$0.00
	\$0.00
	\$0.00
	\$0.00
Salesperson: Greg Gripon Subtotal	\$76,007.80
All work to be performed in a workmanlike manner No Tax	
following standard practices. Please see Warranty for details. Grand Total	\$76,007.80
Texas 811 will be notified prior to digging.	
Deposits are Non-Refundable!	
Customer Acceptance of Proposal, Payment Schedule and Warranty:	

518 PROPOSAL

2060 Pecan Orchard Rd League City, Tx. 77573 (281)332-4651 (281)332-7873 Fax E-Mail: 1535 Dickinson Ave.

greg@lynnslandscaping.com

Internet Address:

www.lynnslandscaping.com

TO: City of League City

League City, Texas 77573

DATE: 8/10/2015

Date:

SIZE	QTY.	DESCRIPTION	PRICE EACH	TOTAL PRIC
		Installed Price		
30 Gal	2	Mediterranean Fan Palm	\$395.00	\$790.00
3 Gal	2	Butterfly Iris, Bi Color	\$34.00	\$68.00
3 Gal	32	Blue Pacific Juniper	\$36.00	\$1,152.00
B&B	1	Florida Sabal Palms 10-12 Foot	\$900.00	\$900.00
3 Gal	7	Red Yucca	\$34.00	\$238.00
3 Gal	8	Lantana	\$34.00	\$272.00
Lin Ft	27	Stackable Moss Rock & Boulders	\$16.50	\$445.50
Sq Ft	152	Bull Rock over Clouth	\$4.95	\$752.40
150 Lb.	2	Boulders	\$75.00	\$150.00
Sq. Yards	150	Zoysia Sod	\$6.00	\$900.00
•	40	Chop Stone Border- Multi Blend 4" x 6"	\$12.50	\$500.00
				\$0.00
	1	Solar Light Panel, Controller, Battery	\$1,900.00	\$1,900.00
	5	Kichler 15742BKT Spot, 8.5 W LED	\$202.00	\$1,010.00
	İ			\$0.00
				\$0.00
				\$0.00
				\$0.00
				\$0.00
		1		\$0.00
	1			\$0.00
				\$0.00
				\$0.00
				\$0.00
Cu Yd	5	Living Earth Ultra Soil Mix w/Micro Life4-6"	\$89.00	\$445.00
Cu Yd	1	Labor: Grass Removal & Disposal	\$140.00	\$140.00
	1			\$0.00
				\$0.00
	1			\$0.00
	1	Mobilization	\$386.52	\$386.52
Salesperson: Greg Gripon		Subtotal	\$10,049.42	
Credit Customers will be assessed a 2.98% convenience fee		No Tax	\$0.00	
when paying their account by credit card!		Grand Total	\$10,049,42	
fexas 811 will be				
Deposits are Nor	_	······································		
representation	i ittimitabit;			
<i>a</i>		1 D (01 11 1777)		
ustomer Acc	eptance of Pr	oposal, Payment Schedule and Warranty:		

HWY 3 Walter Hall Park

2060 Pecan Orchard Rd League City, Tx. 77573 (281)332-4651 (281)332-7873 Fax E-Mail:

greg@lynnslandscaping.com

Internet Address :

www.lynnslandscaping.com

TO: City of League City
1535 Dickinson Ave.

League City, Texas 77573

DATE: 8/10/2015

			8/10/2015	
SIZE	QTY.	DESCRIPTION	PRICE EACH	TOTAL PRICE
		Installed Price	4000.00	61 000 00
B&B	2	Mediterranean Fan Palm	\$900.00	\$1,800.00
3 Gal	6	Butterfly Iris, Bi Color	\$34.00	\$204.00
3 Gal	21	Blue Pacific Juniper	\$36.00	\$756.00
30 Gal	4	Vitex	\$395.00	\$1,580.00
3 Gal	18	Red Yucca	\$34.00	\$612.00
3 Gal	10	Lantana Confetti	\$34.00	\$340.00
Lin Ft	80	Stackable Moss Rock & Boulders	\$16.50	\$1,320.00
Sq Ft	395	Bull Rock over Clouth	\$4.95	\$1,955.25
150 Lb.	8	Boulders	\$75.00	\$600.00
l Gal	90	Katie Rullia	\$10.00	\$900.00
Lin Ft	45	Chop Stone Border- Multi Blend 4x6	\$12.50	\$562.50
	1	Solar Light Panel, Controller, Battery	\$1,900.00	\$1,900.00
	7	Kichler 15742 BKT Spot, 8.5 W Led	\$202.00	\$1,414.00
	1	New Sprinkler System	\$1,950.00	\$1,950.00
		j		\$0.00
				\$0.00
				\$0.00
		1		\$0.00
				\$0.00
				\$0.00
				\$0.00
				\$0.00
				\$0.00
				\$0.00
				\$0.00
				\$0.00
Cu Yd	8	Living Earth Ultra Soil Mix w/Micro Life4-6"	\$89.00	\$712.00
Cu Yd	1	Labor: Grass Removal & Disposal	\$160.00	\$160.00
				\$0.00
	1	Mobilization	\$670.63	\$670.63
Salesperson: Greg Gripon		Subtotal	\$17,436.38	
Credit Customers will be assessed a 2,98% convenience fee		No Tax	\$0.00	
Citate Captomato IIII or appare - were		Grand Total	\$17,436.38	
Texas 811 will be				
Deposits are Non	-	-		
~ 15.00100 MI 0 1.00				
	a –	1 n		
Customer Acce	entance of Pr	oposal, Payment Schedule and Warranty:		

Customer Acceptance of Proposal,	Payment Scheaule and Warranty:		
		Date:	

PROPOSAL

2060 Pecan Orchard Rd League City, Tx. 77573 (281)332-4651 (281)332-7873 Fax TO: City of LC

1535 Dickinson Ave

E-Mail:
greg@lynnslandscaping.com

League City, Texas 77573

Internet Address:

www.lynnslandscaping.com

DATE: 8/10/2015

Date:

SIZE	QTY.	DESCRIPTION	PRICE EACH	TOTAL PRIC
		Installed Price		
30g	3	Mediterranean Fan Palm	\$395.00	\$1,185.00
l Gal	9	Katie Rullia	\$10.00	\$90.00
3g	14	Blue Pacific Juniper	\$36.00	\$504.00
3g	171	Pink Gulf Coast Muhly	\$39.00	\$6,669.00
3 g	113	Dwarf Hameln Grass	\$39.00	\$4,407.00
15g	7	Pride of Houston Yaupon Holly	\$195.00	\$1,365.00
3g	15	Red Yucca	\$42.00	\$630.00
3g	6	Lantana	\$36.00	\$216.00
15 Gal	6	Vitex	\$195.00	\$1,170.00
Lin Ft	413	Chop Stone Border - Multi-Blend 4"x 6-8"	\$12.50	\$5,162.50
Lin Ft	147	Double Stack Moss Rock Border	\$16.50	\$2,425.50
Sq Ft	750	Bull Rock over Cloth	\$4.95	\$3,712.50
•	12	Boulder	\$75.00	\$900.00
300 Watt	1	Vist Stainless Steel Transformer w/ Modular	\$419.50	\$419.50
		Photocell & Timer		\$0.00
	13	Kichler 15742BKT Spot, 4W LED &	\$165.00	\$2,145.00
		Ground Stake, Black - Yaupons & Vitex		\$0.00
	9	Kichler 15742BKT Spot, 8.5W LED &	\$202.00	\$1,818.00
	ļ	Ground Stake, Black - Sign & Med Fans		\$0.00
				\$0.00
				\$0.00
	•	•		\$0.00
	8	Irrigation for Entire Triangle Area	\$700.00	\$5,600.00
		7 Zone System		\$0.00
Cu Yd	23	Living Earth Ultra Soil Mix w/Micro Life4-6"	\$89.00	\$2,047.00
Cu Yd	16	Hardwood Mulch	\$79.00	\$1,264.00
	1	Labor: Grass Removal & Disposal	\$695.00	\$695.00
		,		\$0.00
				\$0.00
	1	Mobilization	\$1,697.00	\$1,697.00
Salesperson: G	reg Grinon		Subtotal	\$44,122.00
Credit Customers will be assessed a 2.98% convenience fee		No Tax	•	
when paying their account by credit card!		Grand Total	· ·	
			GIANG ISTAI	ψΥΥ,1 <i>ωω</i> ,00
Fexas 811 will be	_	to algging.		
Deposits are Non-	Refundable!			